Student Name:

Teacher's Name:

SECTION A: NUMBER AND ALGEBRA . (35 MARKS)
e 3] ) Cirele the correct multiple choice answer '
BRIGIDINE RANDWICK COLLEGE - . o . )
YEAR9 YEARLY EXAM 2014 - . - 1. The expression 3q+4b—2a—b simplifies to , /
' ‘A 3a=b B. ai¥Sh C. a3 D. 5a+3b
.Name: _ - Teacher: | ’ '
2. Givenah= 23 and bio=4:5 . What i aze ? -
A 12 B 2:5 o' 35 oD 815
- | Algebra and Number 30min | .35 _
o ' (approx.) ' 3. Minnette is m years old, Joanne is § years older than Minnette,
) ) . Which of these is an expression for Joanne’s age in 3 years time?
' . . s < F
Measurement and A 30min o030 : - | L.
. _ (approx) | ) Aom-2 B. 3(m-5 "C_ -m+8 D. 3Im+35-
‘Geometry : ' : S o SRR
. isti ' yabili 15min NIt -
StatlStlcs Alld Prob ab]hty A 4, Convert 80km/h to m/s.(to the neardst mefre per second)
. ‘ | (@pprox)| - : _ '
: : — — - A 13 B 22 c. 27 D. 30
Challenge 15min 20 — - S
. ) | (approx.) : . .
Total - C 90 min < /100 o ; :
: : S I i . 5. Katrina'sells cars. She carns $§270 per week plus 5% commission on her total weekly
_ ) 7 sales over $40 000. )
: i E— . : — S What is the value of her sales in a week when she earns $3607
A $11800 By $17200 C. $51800 D, $57200

_ YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014



- \ . 10. Angelica’s annual salary $72 400
‘a. Caleulate her weekly incoms.
x 2rx ) —_— -

Show all working for the following queitions,

6. - a. Simplify 4’ +7a—a’ +q 1) b Simplify oS 2
4/"—’ ) - U r - — a T '
' . . : ) . ) b. Holiday loading is calculated at 17%% of four weeks pdy. Calculate Angeﬁca’s loading.
7. a Solve 4x+12=20 1 b. - Solve 9x—-3=4x+17 / ) 2
/ . L/ | | o
/ . ,/ ' ) . Angelica takes four weeks’ holitlay; Caleulate Angelica’s holiday pay.
/ . / ) .
8. If 3:321{2(; +(1=1)d] find d i § = 498, n = 12, a = 3, ' 2 " d. Angelica’s employee is thinking of abolishing holiday loading.

To compensate, he offers Angelica a 1.6% increass in salary.
Use calculations to explain why Angelica is better off with a 1.6% increase in salary.

]

R 11 a. Complete the table of values for y= gx +3 x |2 [0 |2
9. The table below is used to calculate tax payable on personal yearly income. o2
. : Y
Taxable income | Tax on this income ' 3 -
0 - $18,200 1 Nil - " b. Graphtheline y= 3% +3 on the number plane.
$18,201-$37,000 | 19c for each $1 over $18,200 ] - S T ,
$37,001 - $80,000 | $3,572 plus 32.5¢ for each $1 over $37,000 ' ' )
$80,001 - $180,000| $17,547 plus 37c for each $1 over $80,000" . s
$180,001 and over | $54,547 plus 45¢ for each $1 over $180,000 2 ‘_/
. a. Determine how much tax Emily would-pay if she earned a gross salary of $77 000 per year, . 2 : ) A,
) - h ’ ) N < ’/‘ . x
- / " N
. _ 7 2
b How much would Emily receive each fortnight after tax was"deduc'tEd?' R | RYR |
/ .

YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014 S o Ca YRAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014
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\\ 14, Tony usuaHy works a 32 hour week. Calculate }ns Lourly réfe 6f pay in a week where

12, A(-3,-2) and B(l, 4) are points on the number plane. . o . \ b - he worked 37 hours at an overtime rate of time and a balf, if he earmed $388.75
a. Plat these points on the number plane provided. Clearly label each point with the appropriate for that week. . - -
letter. ’ C : . 1- - — S ———

&4

kS

&

&

N

b. Determine the distance between A and B. Express your answer corect to 1 decimal place, 2

c.  Caleulate the gradient of the line passing through Aand B. - 1

d. Determine the equation of line AB. : S 2"

13, Kathleen's aunty was 42 Years old when Kathleen was bom. Her aunty was three times Kathleen’s.
age.when she retired. : i

How old was Kathleen when her aunty_rcﬁrcd‘é Wiite ¢quations and solve. o )

‘ A YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2074
YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 7614~ T 4 - ;
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SEOTION D : CHALLENGE (20 MARKS) ~ © Studemt:l o :
. Teacher : 3. The trough in the shape of a triangular prism is full of water. It is emptied into another
- trough in the shape of a cylinder, What height will the cylindrical rough be filled up
1. to (to 2 decimal places)? = - . ’ 3

a. State which condition could be used to show that triangle ABC similar to
triangle ADE? (You do not need to prove they are similar). 1

b. Find x,

2. . Find w;




b

Find 8 to the nearest minute : . o L

The angle of depression of a Sl‘ll;g out to sea as seert from a \fertical cliff, 50m above
the water is 60%

iy ¥ill inthe information provided. 1 i. Find the exact distance -
(clearly idendifying the angle from the ship to the base
of depressiot) ; of the cliff. 2
1‘< i
=S
5 [+ . \ S
: : S
Chff -
- ~
S~
~
I~
Ship

=

In-érightanglet:*ia’ngle,ifsiJJG:@,ﬁnd the exact value of cos6, 2

"

4. a.  Determine the equationof Z;
] "
NOT e o
TO
SCALE
/' 2 L
b. If L, is perpendicular to I, find . c.. Calculrate the area of the shaded
the equation of I, if IandZ, 1 region. 2.
intersect at (7,2) L i .
2 - !
Leave your answer in/generat form,
¥ in/gener 1, orm, 2
5. Expand and simpfify thefottowing™ | (3aHi) (éa—«s) -—(3a—-_2)2' . 2
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. BRIGIDINE RANDWICK CDLLEGE
"YEAR 9 YEARLY EXAM 201
Name: Teacher:_/_
SECTION C: STATISTICS AND PROBABILITY (15 MARKS)
Circle the eorrect multiple choice answer
Question Marks
: [
1 A letter is chosen at random from the word REFERENGES: What isthe i
. probability it is the letter E?
1. 1 3 I T p
A) = . - C) = et
) 10 ®) 3 © 10 (D) 5 ‘
2 The Weather Bureau predicts a 30% chance of rain tomorro;w. Which ﬁacﬁoﬁ‘_ 1
represents the probability that it won't rain? : MR
‘3 1 o 2 .
RGN (B 3 @ 5 M g
3 Find the median for the set of scores 5 2‘,’3{}7,/,9,,5, .4 1
w7 ® 6 © 55 @O 5
' 4 A group of six students completed atest. The mean for the group on this test

was 15. However orte of the scores had been’ mcorrectiy recorded 4sa 10 7~ . 1
instead of 20. What ishe correct mean?

(A) '1{5'.5 o® 16._7: T @ 3 @ 183

1Fw9 Ywﬁ'ﬁﬁrﬁlﬁiw‘, Bt:igidinp Cdileg_;Raﬁd;w;‘o‘;Eg" B e

The results of two ;jeaxly examinations are displayed in the box-and-whisker
plot. Determine the interquartile range for cxam B.

-

Exam A

Exam B

wns  ® @ 45 o 6

Show all working for the following questions

i

The time taken (in seconds) to download twaivc different v1deos is shown
below:

1;5, 14;/{%/153, 148, 1,211;9;44 147, 148, 15, 1. '

Calculate correct to 2 decimal places. -
(i)  Mean , -7 1
(i) Median - - 1.

)

; 2_ I Year 9 Yearly Fxam 2014, Brgidine Collegs Randwick




Refer to the table beIow which records Andy s results in his fast 50 tenms matches comparing

7 -
how often his first serve was in.
One of hi.s matches is chosen at random.
* Serve > 60"—/04] Serve < 60% Tota_ls -
- Won the match 25 6 A 3
Lost the match 7 12 19
Totls | 32 18 50 ‘
{a) What is the pr‘pélbiiity that he won the mateh? ; 1
®» Wh}sé the probability that he served < 60% in the match? | 1
(c) What is the probability that he won the match and served < 60%? . |

. . .
3 Year 9 Yearty Exam 2014, Briidine Coliege Randwick

8  The cumulative frequency histogram summarises the Tesults of a test.

830 3
80 —+
70 T : ;
60 3
50
40 3
30 3
20 _
10 3 T
g3 :

Cumulative frequency

0 3 so . 70 80
Result {3}

ww @ How many people completed the t.est?

(i)  Construct a cumulative frequency polygon (or ogive) on this graph.

2

9 The digits 8, 7, 6, 5, 4 and 3 are written on six separate cards, Three cards are
‘drawn at random from the deck, one af a time, and placed face up on 4 table
to form a three digit number

0} How many diﬁ'crent three-digit-numbers /e.{n be formed?

=

()~ Whatis the probabilily of selecting 3457

P

(i) What is the probability of selecting & number greater thém 6007

4 l Year 9 Yearly Exam 2014, Brigidine Coliege Randwick




Show all working for the following questions.

/ : < d Student Name:

' 6. Calculate the area of the trapezium to the nearest square metre.

Teacher's Name: |
I

SECTION B: GEOMETRY and MEASUREMENT 30 (MARKS)

Circle the correet multiple choice auswer

1. What is the total surface area, in square units, of this rectangular prism? 30cm

A 2@h B, ddtdan O da’+6ah D, 42’438

2. The diameter of a circle is Gem, The perimeter is closest to:

A. 3em B. %m c. 18em O, 1%m

3. What is the value 6fx -

8. The trlangle shown has an area of 43 cm® with a base of 16'011;.
Defermine the height of the triangle. oo

A 40° B. 50° c. 6 D g
4. The value for x in the diagram is 50 ) r———
16cm-
N 9. a. ‘What is the name of the solid formed by this net ?
A 80" B. 60° c. 4 D 20 SEEEIE ponaee EEREEE
- 5. The figure shown is a parallelo . - ; | R RN I
Tho figure ap gram HOT TO SCALE e b M N )
7 Wha_tlsmevalueof_-x‘-?. 7 o _ : :_' A DS e b. What is the surface area of this solid?
A0 '_B.’]b C. 90 -vD. 100 N N DD I O ’
. DOSEEE S 1D S
P A A A SN

YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014
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10 . Tor the; hexagon ABCDEF . : . 11. Calculaté the surface area of the following cylinder to tha"ne'arest square centimetre

HOTTO T T o
8CALE )/” Tre— .
oo “\ ‘
. .\\..
1205 e )
a. Calculate the perimeter of ABCDEF. o . 1 ‘-
b, AE=5cm. Show by'calculation that FX=3.12 {correct to 2 dg:cima[ places) o 1
B o o 12.  The volume of a cube is 64cm’ . Determin its surface area.
. = : ‘ 4
, e Calculate the area of ABCDEF. . 2
)
d. A new fruit-juice container in the form of a hexagonal i)rism‘is constructed T "
using hexagon ABCDEF as the base. “The fruitj juice container is to hold 250 mL. @ Name the regular polygon that has each of its 'cxtcn{al angles equal to 72 degrees.
NOTE 1 mL =1 em’ . ’ '
Ca,lculate the height of the container to the nearest centimelre. ‘ 2
h ‘ : ) . : : ) 14 *  The angles inside a quadnlaleral are represented by <, (x 1-30) (x-i—lﬂ) and (x+20)

Pind the size of the la.rgest angle.

YEAR § MATHEMATICS: YEARLY EXAMINATION, 2014 ' VEART. -
‘ | YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014




- 15,  Find the area of the following sector

N

16.  Find fgivingreasons, - NOT TO SCALE

YEAR ¢ MATHEMATICS: YEARLY EXAhm‘IATIdN, 201
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Hastar Cory — Socqyrions

Student Name: __, , -

) ) Teacher's Name: __ . ____L ’
SECTION A: NUMBER AND ALGEBRA (35 MARKS)
Circle the correct multiple choice answer . -
- , E os A3
1. The expression 3q+4b—2a~b simplifies o o .
A 3a=b B aiSh @ a+35 D, Sa+3b / -
v

. 52 ‘
2. Given ab = 2:3 and bio = 4:5 . What is axe ?

/@/1:2 | B. 2-:5 @ 3:5 ( / | X

3. Minnetts is m years old. Joanne is 5 years older than Minnette.
Which of these is an expression for Ioanne 's age in 3 years time?’

v Y +5)
,@Gm + 5 X '
4, .Convert 80km/h to mls.(to the nearest metre per sccond)

A 13 n G 27 D. 30 - /

5. Katrina sells cars. She earns $270 per week plus 5% commission on her total xvg:ekly

sales over $40 000,
What is the value of her sales in'a week when she earns $860‘P

! D, $s7200 TN
ST

Alom-2 B, 3(m-5) |

=

A ~s1lsoo/@/s17zoo

. YEA‘;R 9 MATHEMATICS: YEARLY EXAMINATION, 2014

Show all working for the following questions.

6. a  Simplify 4a’+ 70—’ +4 1| b Smehfy—— Zxd %‘ 29242 )
LoZ_or tFara | . Sx2
x s
'9&1+90\_/, B/ 6x 20X :2,/%“'372‘“
e ! /< @) ~ |
2o b 2
w o
7. &  Solve 4x+12=20 1| b Solve 9x—3=dx+17 PR S
te Fl2-2.0 Qe ~Ux= VHY3R -
§¢ ~ 20 2 5x = 20 .
e =g \/ \/
o=
, .
8. If S:’—[za+(n~1)d] find d if S =498, n =12, 4 = 3. 2

nags= [Qm t(a-nd ] _ |
quz:g(j@ b (ydT] wer _J -\/1/
LAy :

6 Cer a7 é d-F
49g = 26 +bbd , o
4oL 2 66 &

9. The table below is used to caleulate tax payable on personal yearly income.

" Taxable income | Tax on this income
0-$18,200 Nit i .
$18,201 - $37,000 | 19c for each $1 over $18,200
$37,001 - $80,000 | $3,572 plus 32.5¢ for each $1 over $37,000
$80,001 - $180,000| $17,547 plus 37c for each $1 over $80,000
$180,001 and over $54 547 plus 45c¢ for each $1 over $180, 600 ‘

4. Determine how much tf.xx Emily would pay if she eamed a |
i I gross salary of $Tf 000 per year, . 2
T FI000 - 3FO00 = y4ooss ¥ 0325 . gl ‘

T = 13009 F3s L \/iz
16s+2
b. How much wouldEmJJyrecewe each fortmghtaﬁertax was deductcd‘7 : . A |
FP000 — (g5F). ‘ -
e Cmm?/gg

= bhlb2 . 0F x‘z $'2:s:7_u 03
YEAR9MATHEMATICS YEARLY EXAMINATION, 2014
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10, Anigelica’s annual salary §72 460 ‘ 12, A(3, 42) and B(1, 4} are points on the number plane. \'\
4. Caleulate her weekly income. - ST -1 a. Plot these points on the number plane prov1ded Clearly label each pomt with the appropriate \

- . . . ) i 1- A
"f‘j_u@o /5_ 9 . 7 _ . letier, _ , | ‘

\/ _ﬁi[?»cn-%fﬁ | . L - ‘

b. Holiday lmldmg is calculated at 17—% of four weeks pay. Calculate Angelica’s loading, 1

= S,ch.l‘qxo. ‘j‘g . ’ cs?-‘—k?!es 7' ) ‘
..:;YQ"}J(_(.G'L . ' . ' . T . £ 5 & 3 %

L]

¢. Angelica takes four weeks’ hohday Calculate Angelica’s hohday pay. ' 1

eevs =19FL.67 ’ “
ok e - = e5um : ‘

J
d. Angelica’s employee is thinking of abolishing holiday loading.

To compensate, he offers Angelica a 1.6% increase in salary. . b. Deten:mne the distance between A and B. Bxpress your answer correct fo 1 decimal ?lace. 2
Use calculations to explain why Angelica is better off with a 1.6% increase in salary. 2 (22 —?t‘)z r sz"\‘{'b o
\ 3 % e : :
1200 %0016 &amse fle \finoress e s meove ™ . -V C‘+3)'3- Y {u a .
Ae KORC&OLS Lo q&(\a . ) o 4
= UGl ' Y AL $92 = F-n
= #3558 ‘ : te + 26 '
; : . . Caleulate the gradient of the line passing through Aand B, - 1
1I:  a. Complete the table of values for y:%x +3 x [2 o 2 B Y22t Y29 L L . -3—:
' . T T3 a
. - : Yy o136 i ST =Y
" b. Graphtheline y= %x +3 on the number plane, -2 -+ d. Determine the equation of line AB. . ' 2,

) o L/ _— - o : L}ﬂ 3 (43
o TRV/EER ' // Yr2a 3w "
\/\/ - VT . ~ ‘ Yo ben v 25 ory=lhx val

13, Kathleen’s aunty wasg 42, years old when Kathleen was born, Her aunty was three times Kathleen’s

s : L ' A .. agewhenshe retired.
- ; o s e -k . ) . - . How old was Kathleen when her aunty reﬁred‘?_ Write equations and solve, 2
/(\ 7T 2 5 . . : Do —9e =D
o _ A, .
i = / . : ) ) ) o Do -+ U2,
YEAR 9 MATHEMATICS: YEARLY EXAMINATION, 2014 I N T YEAR 9 MATHEMATICS: YEARLY EXAMNATION, 2014 . 7 A
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14.  Tony usually works a 32 hour week. Calculate his hourly réfe of pay in 4 week where
- he worked 37 hours at an overtime rate of nme and a half, if he earned $888.75

for that week. : 3
LS (sch.?s 2 32) oo (321'1'«1-5031; (22 50% S8
e . (ho) + Qa?xygyuﬁ

A A
- ot g

2a.<

PRI 2 o

’;F}.l-go ATL ho-fr*, ‘. : -A ’ /‘/l/

WEAR O MATHEMATICS: YEARLY EXAMINATION, 2014 -

//

,o;

SECTIOND . CHALLENGE (20 MARKS)  Student:_. .

-

/

-
=,

g . x+5

—

i
. ) .
g

- Srx
s

33 = &5

P

-2

State which condition could be used to show that triangle ABC similar to
triangle ADE? (You do not need to prove they are similar). 1,

mWMPWX |
= et i [2wo.aiu/af (A// aygles ‘are ejua./)

Find x.

A




i:; Find & to the nearest ininute

The angle of depfession ofa slljg out fo sea as seen from a vertical oliff, 50m above

the water s 60°.

Fill in the information provided. 1 fi.  Find the exact distance -

(clearly identifying the angle . from the ship to the base

of depression) C/\ of the cliff. 2.
W

\S{ \ e .

Cp é‘zﬂ;?? s D.awﬁ““

\@/ Cliff ~o - Y % /
W%X Q},}S S~ % = 2§

oS 0 S \x/(;TD(.L

d@ﬂ \\ 7 . & f\: - Y50

o \‘\/ﬂ
an60 = % $OA | ngprrect
2:/1

B[y v * Ship .. X T Fange®
Co T s zpr(Pzde)
d. In-é right angle trtanglc 1fsm3—£ find the exact value of cosf. ) @
2
! & ' Cos®- ﬁ v /v _X:’/
-‘- ﬂr_y i N M
X N 45
= 0 -

—J'E-x‘ﬁ' __.\[’0 r & . | ’r
A ]> . " \D - C, = \6 Lt .

/£ 12:, o . . .

té .’lD R = 2
- %

'Fi’o{ﬁ (,11. ﬂg an

3. The trough in the shape ofa triangular prism is full of water. It is emptied into another

irough in the shape of a cylinder. What height will the cy]mdrlcal trough be filled wp

to (to 2 decimal places)?

L (o 3) ¥
>

05, /
fc,m" ¢cool-
lem = teal
mr>h
n'\"]_ 'Z.Sv. .‘9 —
L6 eh 7o
Geeth = THOO
:'C)"‘El—\m e e
= @goUTTT
BacT A% e),.‘er-Q"Q"-*'
poed S qrghj— oo
= G

3




NOT
TO
SCALE

a.  Determine the equation of L,

£
@r—'l.

¥

b, If Lis perpendiculer to Z,, find |

the equation of L, if I, and L,

intersect at (7, %] .

TL.eave your ansx_w;cr iu@ral‘_, form. 2
. g

1
5. Expand and sunphfy

g0 =T e tem e

2 [7_—* ‘53

_ QR A
LI. : lﬁ\’L -‘:—..,\——-'}f/
—2

Ba— )'75-'

" g, Calculate the area of the shaded
‘region, .2,
SR S AN

]

Yo -2y 7 5 7
Lol

A=Y e
: 2

- ':)ltﬁ.‘_-s")’j-‘i‘)

3g_:i)ﬁz_a~5):(3g—2)’ ,  2~

x ga’-15azatF - {9a* ¢ 2 _.;_2,1)

- gal-iTq-+5 - 9at- 4112

= f-'_gq:".- Sa +t
5

BRIGIDINE RANDWICK COLLEGE}jy
YEAR 9 YEARLY EXAM 201

Name: _ - Teacher: .
' V)
SECTION C: STATISTICS AND PROBABILITY (15 MARKS)
Cirele the correct multiple clioice answer _
Question Marks
i
1 A letter is chosen at random from the werd RERERENCES: What is the 1
.probability it is the fetter E? a.
! .
0 g
1 1 3 2
Wi ml o2 2
@ 7 ® © % ; /
-2 The Weather Bureau predicts a 30% chance of rain tomorrow, Which fraction
represents the probability that it won’t rain?
3 ;1 2 @ /
VT (B 3 Q) 3 0.

3 Find the median for the set of scores 5, %, 3 71,5, 5.

e

| © 55 _ 5

4 - Agrou of six students completed a test. The mean for the group on this test 1
was 15. However one of the scores had been mcorraclly recorded 4s a 10
instead of 20. What is thie correct mean?

16.7,

1V ® 6

@) 1;&'.5 R © 173 © 183

I‘I Year 9 Yearly Exam 2014, Brigidine Colizge Rendwick e —



The results of two y carly examinations are displayed in the box-and-whisker 1 \ 7 °  Referto the table below which records Andy s results in his last 50 tennis matches comparing
- plot. Determine the interquartile range for exam B. how often his first serve was in.
Exam A One of his matches is chosen at random..
" Serve > 60% Serve < 60% ‘ Totgls -
Exam B
- Won the match - 25 6 31
_ Lost the match 7 ) 12 19
(#)225 (B) 63 : : Totals ' 32 IE I - 50
) (2) What isthe p ébiiity that he won the match? ' 1
3% =2y4¢. _ o '
E % ‘ .- : '
corersserssanns 'gérwmmmmﬁ#hdrﬁndgww\mh««wh
Show all working for the following questious .
: | 1058, 82 L. TIFEEY, SN s
tirme fak ds) t twelve diff id h : :
’1211&:) "1:318 en (m secon s) o download twelve different videos is shown _ (®) Wha t’é the probability that he served < 60% in the match? 1

136 14;/(2;453, 1] 127, 129, 145, A7, 148, 190, 141 - g-——\m secpail hyet.. A—Q"ld‘jx swevss.etna. L8000 15,36, s

Caleulate gorrect to 2 decimal places: N _ - i ?WMM'\'"&M
| - ' | (¢) What is the probability that he won the match and served < 60%? T
() Mem . yz.¥% 1 ' :
ke - e, th&b‘\\\b‘ ’:.J\f%’\‘ AOC}SU KIRY-N W Mm\—s‘\q

(i) Median V\L{(')' / 1

= kO

_ 3 I Year 9 Yearly Exam 2014, Bripidine College Randwick
2[] Year 9 Yearly Exam 2014, Brigidine College Randwick
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g

o (i)  How many people completed the t.est?

The curnulative frequency histogram summarises the results of a test.

90—.—
80 3
70 :
60 : ]
50 i
40 3 :
30
20 3
10
0

Cumulative frequency

10 30; 5 . 70 90
Result {3}

¥xp 663

| / -
ﬁ-} Nocoeil . 4 Y
¥ ¢ % YW
LN
[0
qe
€65
§56
. r ) 1 : s S ‘Y
(i}  Construct a cumulative frequency polygon {or ogive) on this graph. 1 § +5
. gs Y
gus
. 4 -1 [
9  Thedigits 8,7, 6, 5, 4 and 3 are written on six separaie cards. Three cards ars 1
drawn af random from the deck, one at a time, and placed face upona table v
to form a thiee-digit number, . "‘\S‘g‘
. LY ”f— A
0} How many different three-digit numbers oén be formed? ) 1 b
\ 2o V- -
iy Whatis the probability of selecting 3457 / 1
1 s T
. o Ao_c; /
iy  What is the probability of selecting a number greater than 6007 1
. VN :
¢%/1ho /2
L'
4 Year 9 Yearly Exam 2014, Brigidine College Randwick 236 B6F 8T wuF £ 31— :
QTS v6 s ¥sa ¢ mowI6
g EFY e 54 g a3 I

£33 &5 w53

/

W Student Name:

- . Teacher’s Name: _

SECTION B: GEOMETRY and MEASUREMENT 30 (MARKS)

Circie the correct multiple choice answer

1. What s the total surface area, in squate units, of this rectanguiar prism?

. l, ]
A 2 B, ddrdah (C)4a*+6Gah D 4a1+_g/

Qaxd)hat Al Gackrin

Qe ¥hi) = Qai—h
Byt = 2an

r

\ta”'i’ & an . o)

puimss Dy mensm]

2. The dtameter of a circle is 6cn:t The penmeter is closest to:

A. 3em B. 9%m €. 18cm @ Iécm

. 2\*.‘:/

3. What is the value 6f x-

3% uaptde’

C. 40 , 20°

L A 80 B 60°

YOLS B, 50° c. 65° @(P
4, The value for x in the diagram is (n tyo - B0 =60

5. 'I‘he ﬁgm'e shown isa para]lelogram
What is the value of x7?

208

A 50 B.'70'

NOTTOSCALE /100° '
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Shovw all working for the following questions.

6. Calculate the area of the trapezium to the nearest square metrs.

:‘—2: Ca \/\:?5‘%\’\

Al0cm - -

i .
o 5 (5v )3

=3FS

7. ABCD is a rhombus. s area is 48cm and AC= Scm What is theIengthofBD 9
UY v 2 -:-C?:év

BDz\l/Q’/— T
B .

" 8. Thetriangle shown has an area of 48 om’® witha base of 16cm.

Determine the height of the triangle.
AN 1

G~(_____———~

‘_1Ecm'h -

9, a. Whatis the name of'the solid formed by thisnet 2.

P A R I N /
PEERE P e

NRSSEE PRTEa i e Trtangoleos eriven
RREEDZ paouans Ny

R B T S b. What is the surface arca of this solid?
. s ‘. .+ Y i P

BEEE N EESRRRE Yo Ceey 236 - Q¥ > leg
IEEEREEE ERSEERY EEEEEE sy = 35
IOORE A B BRI AT
e e v r o je-Tonite el a0 e :

¢ . ..-r_:. PN SN B ’}Fq__— [’tq )

s ' ‘ heg A
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(9f 75 FCOTHE 20k yp ooy

For thé hexagon ABCDEF

a, Calculate the perimeter of ABCDEF. o _ _ 1

2 devn
b. AE = Sem. Show by calculation thaf FX= 3. 12 (correct to 2 declmal places) 1
pe-2s% . o™
& - 628 = &R
4qrs = FY ~=%. (2
c. Caloulate the area of ABCDEE. 2

(3,17_*_ 3.3) - = \Wﬁ
x5 = ‘*S—‘:_‘——— //

=z 30 -6

d. A new fiuit-juice container in the form of a hexagonal prism is construected

using hexagon ABCDEF as the base. “The fruit j Jjuice oontamer isto hold 250 mL.
NOTE 1 mL =1 cro’

Calculate the height of the contatner to the nearest centimet}'e. ) 2
a0 e P 306 vh

Wi g e ezl

he €
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11, Calculate the surface area of the following cylinder to the nearest square centimetre 2
. . . :
EL;O - Qﬂ(h IS Rad 4 )
. 92 Q -
@ _ Qg,‘l Fxng20.5 F ¥ IE
P A
205cm . (s R
A o /
e B Aty e /

12.  The volume of a cube is 64cm’ . Determine its surface area. . 2
S"f s =5

How = 4
- by L{' b v /
= q@ C‘M_s /

El

@ Name the regular polygon that has each of its'exterﬁal angles equal to 72 degrees. 2
Yo -2 - O¥ (N-2NEO = invererSui
0% N . '
BFANO=540" (yeaddn L L
Penea” mo ete e ese ]
" _,__..t—-e—-'—"—'_— . .
: = 18O il
14.* The angles inside a quadrﬂateral are represented by x°, (x +30)’ (x+10) and (x+20)
Find the size of the 1argest angle. ’ 2

~ & Coerg@ v (o vioy F Coex ) =360

e 50 =260
e - BT
S, & 28N

z"’gx +‘50 =
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- 15 Find the area of the following sector.

———T rQ
260 L\

PR
MO v s

cmr 2H0 ) ’
) —‘\Ln‘)_‘_’,%g‘?le \/

g “gom

16. Tind fgivingressons, - NOTTOSCALE 3

6%'%““ Las ate

_ C‘M\S

B 11 = Qougplgrenter” )\:\ .
g0 - oePlaT e, 3 (5\9‘ efs
ZBGLH - - borrérs po\r—O' V'\j‘

LZ N
é‘{é\‘é e arhes |/
= SU@‘PID Favrd r\‘-‘fv\"j c‘uj Le__,

LE = . R . N
Lk =bY - , Akernedvy exteyres .

' t 8" ’ L. ) QL%’]UJ . Z% ) r
_-ﬁ'%@?QQ%wD ' wméwﬂwwb i

= 12

' UL~ G = 2% ponep
6Q rppe Y} = \gO e = -2 3
7 “r}_r?"} /O{O

e e =
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